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3.

Il

II Semester B.B.M. Examination, May/June - 2019

BUSINESS MANAGEMENT

2.3 : Business Statistics
(Repeaters) (Prior to 2012-13)

Max. Marks : 100/90

Answers should be written in English only .
2. Sections A, B and C are to be answered by all repeaters. {90 marks)
3. Section D is to be answered by students of 2011-12 only. (100 marks)

SECTION - A

Answer any ten of the following sub-questions. Each correct answer carries

2 mark.

(a)
(b)
(c)
(d)
(e)
{0
(g)
(h)
(i)
()
(k)
{1)

Answer any five of the following questions.

10x2=20
Give the meaning of statistics.

What do you mean by ‘Mode’ ?

What is the meaning of mid-point of a class ?
What do you mcan by Ogive ?

State the various measures of central tendency.
Give the meaning of median.

What is the meaning of Standard Deviation ?

If variance=19.78, find standard deviation.
State the methods of studying correlation.
Write the two regression equations.

What do you mcan by Index Number ?

State the componcnts of time series.

SECTION - B
Each correct answer carries

5 marks. 5x5=25

Calculate monthly arithmetic mean expenditure of 5 families from the
following data.

Family No. 1 2 3 4 5
Expenditure per month (Z)| 4,000 | 14,000} 5,000 | 7,000 | 10,000

Average wages of some firms are given below,

Represent them by a Simple Bar Diagram.

Firm A B C D - E
Average wages (3) 350 600 540 310 450
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Compute the Range and the Coefficient of Range and state which series is
more uniform.

Series Values of variables
A 6 10 -12 8 7 4
B 10 8 9 18 12 2

Calculate the Karl Pearson’s coefficient of Correlation between Series X and

Series Y.

Series X Series Y
No. of observations 7 7
Standard deviation 2.76 2.05

Summation of product of deviations of X and Y series from their respective
means = 38.

Given X = 40; Y = 6; 0,=10; o, = 1.5; r=0.9

(i) Form two regression equations

(i) Estimate Y when X=60

Calculate Cost of Living Index number from the following data.

[tems Index Weights
Food 323.79 50
Clothing 310.00 10
Lighting 220.00 8
Rent 150.00 12
Miscellaneous 300.00 20

Calculate the Mean Deviation and its Coefficient using Mean.

X
0-10
10-20
20-30
30-40
40-50

F

10
16
30
32
12
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SECTION - C
Answer any three of the following questions.
15 marks.
9, Calculate Mean, Median and Mode :
Marks No. of Students
0-10 6
10-20 16
20-30 40
30-40 28
40-50 12
50-60 8
60-70 6
70-80 4

=

% Find :

i: (1) Which factory pays higher average wages ?

‘g (ii) In which factory wages are more variable ?

é Daily wages (3) No. of workers

- Factory A Factory B
2 100-200 10 8
5 200-300 18 16
g. 300-400 22 24
= 400-500 15 12
§ 500-600 5 10

GS-557

Each correct answer carries

3x15=45

10. You are given below the daily wages paid to workers in two factories A and B.

11. Find Karl Pearson’s coefficient of correlation from the following data.

State whether r’ is significant or not by using Probable Error. \

Marks in Financial Accounting

Marks in Statistics

45
70
65
30
90
40
50
75
85
60

35
90
70
40
95
40
60
80
80
50
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Reversal Test and Time Reversal Test.

(oL T

12. Compute Fisher’s Ideal Index number and show how it satisfies Factor

Commodities Base Year Current Year
Value (%) Quantity Value (7) Quantity
A 300 150 480 120
B 50 10 90 15
C 48 12 50 10
D 120 60 100 50
E 60 20 105 35

13. Given bclow are the ligures of demand for a commodity.

Year Demand in 000 units
2006 154
2007 176
2008 188
2009 170
2010 182
2011 196
2012 180

(i)  Fit a straight linc by ‘Least Squares’ Method
(1) Show the actual and trend line on a graph shcet and
(i11) Estimate the production for the year 2013

SECTION - D
To be answered by students of 2011-12 only. 1x10=10
14. Calculate Spearman’s Coefficient of Rank correlation for the following data.
X: 89 53 98 81 95 75 61 55
Y: 47 37 26 39 45 30 32 40
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